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1 Jan Ducak, 3rd Pr. T.T. SUV CSZTV 1982 

 

 

1.Qh5! zz (5 points) 

1...e5 a 2.Bf5 B #  1...Sf3 b,Sf7 2.Rf4 A #  1...R×e2 2.R×e2# 1...Rc~ 2.S×d6# 1...Sa~ 2.Se×c3# 

(1...Rd3,Rg3,Rf3 2.S(×)g3,Se×c3#) 

Set: 1...e5 a 2.Rf4 A #  1...Sf3 b 2.Bf5 B #  

1.Qh8? [2.Rf4 A #] but 1...e5 a !  1.Rff1? [2.Bf5 B # ] but 1...Sf3 b !  

1.Qd7? zz 1...e5 2.Qf5# 1...Sf3 2.Q×h7# but 1...Sf7!  
 

 

 

# 2                  (10+14)  

2 Lev I. Loshinsky & Vladimir Shif, 1-2nd Pr. 2nd FIDE Ty, Revue FIDE 1959 

 

 

1.Re3 ! [2.Qc1 (1 point) 3.Rf3# 2...Qd2,Qg5 3.Bg5#]  

1...Qd8 2.Qb8 + (1 point) Qc7 3.Bg5# 2...Qd6 3.Bg5# 2...Qxb8 3.Bg5# 2...Re5 3.Qxe5#  

1...Qf5 2.Qxe4 + (1 point) Qxe4 3.Bg5# 2...Rxe4 3.Rf3#  

1...Qe5 2.Rxe4 + (1 point) Qxe4 3.Bg5# 2...Bxe4 3.Qc1#  

1...Rc8 2.Rf3 + (0.5 point) exf3 3.Se6# 

1...g1=Q(R,B) 2.Qxg1 (0.5 point) [3.Qg3#] 2...Qg5 + 3.Q,Bxg5#  

#3                      (8+7)  

3 Petko Petkov, Freie Presse 1989 

 

 

1.Be6 ! [2.Re5 + Kxd4 + 3.Rd5 + (1 point) Ke4 4.Rd4#  

1...f3 2.Re3 + Kf4 3.Be5 + (1 point) Kg5 4.Bg3#  

1...Bf6 2.Sxf6 + Kxd4 + 3.Sd5 + (1 point) Ke4 4.Sc3#  

1...Sf7 2.Bd5 + Kf5 3.Bf3 + (1 point) Ke6 4.Sf8#   3...Se5 + 4.Rxe5#    

1... c3 2.Re5+ Kxd4+ 3.Re4+ (1 point) Kxe4 4.Ra4#                                                                     

   

  #4            (10+12)  

4 V Yakimchik, 1
st
 HM. Shakhmaty v SSSR 1956 

 

 

1.Nf7 (1 point) Bb7+ (1...Rh2 2.h7 Kf5 3.h8=Q Rxh8+ 4.Nxh8 Kf6 5.Kb8 Kg7 6.Kc7 Kxh8 

7.Kb6) 2.Ka7 (2.Kb8 Bd5 3.h7 Rh2 4.h8=Q Rxh8+ 5.Nxh8 Kf5 ) 2...Kd5 3.h7 (1 point) 

(3.Kxb7 Rf2 ) 3...Kc6 4.Nd8+ (1 point) Rxd8 5.h8=Q (1 point) Ra8+ (5...Rxh8 =) 6.Qxa8 

Bxa8 7.Ka6 (1 point) Bb7+ 8.Ka5 Ba8 (8...Bc8) 9.Ka6 draw  

 

=               (4+4) 

 

 

5 Tode Ilievski, 2 Com. Coupe de Roumaine des Echecs 1999 

 

 

1.Qxh5 Kd4 2.Qxh4 Ke4 3.Qxg3 Rxg6 4.Qg2 Rh6# (2.5 points) 

1.Bxb6 + Kd6 2.Bxf2 Bxg6 3.Bg1 Bd3 4.Bh2 Bf1# (2.5 points) 

H#4      2 sol.     (12+12)  

6 Stepan Cirulik, Problem 1973 

 

 

1.Bc2 ! [2.Qxe5 + Q/Bxe5 3.Rg3 + (1 point) Q/Bxg3#] 

1...Qxb4 2.Rxc3 + Qxc3 3.Bxd2 + (0.75 point) Qxd2#  

1...e4 2.Rxc3 + Bxc3 3.Bxd2 + (0.75 point) Bxd2# 

1...Qa8 2.Sg2 + Qxg2 3.Qf2 + (0.75 point) Qxf2#  

1...gxh4 2.Rg3 + hxg3 3.Qf2 + (0.75 point) gxf2#  

1...Rf8 2.Rb1 threat: 3.Bxd2 + (1 point) cxd2#  

 
S#3                   (10+10)  

                          


